
          Solution of the day/ September - 6, 2019 

 6th Class 

 Mathematics: Ans : (C) 
Total number of animals = 192  

Fraction of cattles = 7
16

 

 Number of cattles =  7
16

×192 = 84 

Out of these 84 cattles 2
3

 are dairy cows 

 Number of dairy cows = 2
3

 × 84 = 56 

 Physics: Ans: (D) 

 Chemistry:  Ans: (A) 

 Biology: Ans: (A)  

7th Class 

 Mathematics : Ans : (A)
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 Physics: Ans: (C) 

 Chemistry: Ans: (B) 

 Biology: Ans: (A) 

8th class 

 Mathematics: Ans: (B) 
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 Physics: Ans : (B) 

 Chemistry: Ans: (B) 
Organic ion exchange resins can remove only ionic impurities

 
 Biology:  Ans: (B) 



9th Class 

 Mathematics : Ans : (B) 
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 Physics: Ans : (A) 

 Chemistry: Ans: (D) 

 Biology: Ans: (A)
 
 

10th class 

 Mathematics: Ans : (C) 

cos sin 1 3 1 tan 1 3
cos sin 1 tan1 3 1 3
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tan 3   60º     

 Physics: Ans: (C)  

 Chemistry: Ans: (D)  

 Biology: Ans: (A)  

 Reasoning : Ans: (C)  


